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1
A B
C D

2
A SO2 B NH3·H2O C NH4NO3 D BaCO3

3
A NaHCO3 NaHCO3 Na H CO2

3

B Na2SO3 H2O SO2
3 HSO3 OH

C Fe(OH)3 Fe(OH)3 Fe3+ 3OH D H2S H2S 2H S2−
4 0.1 mol·L−1 CH3COOH H+

A B C NaOH D
5

A B Cu2+
C Cu 2e Cu2+ D Cu2+ 2e Cu

6

A B C D
7.

A 2C(s) O2(g) 2CO(g) ΔH ΔH
B C(s, ) C(s, ) ΔH >0
C 2C(s) 2O2(g) 2CO2(g) ΔH1 2C(s) O2(g) 2CO(g) ΔH2 ΔH1>ΔH2

D H+ (aq) OH− (aq) H2O(l) ΔH 57.3 kJ·mol−1 1mol NaOH
0.5mol H2SO4 57.3kJ

8

A Fe 3e− Fe3+
B CuCl2 CuCl2 Cu2+ 2Cl
C CH3COOH CH3COOH CH3COO− H+

D CO H2 CO(g) 2H2(g) CH3OH(g) ΔH= 91 kJ·mol−1
9 CO2(g)
3H2(g) CH3OH(g) H2O(g)
A CO2 H2 CH3OH H2O(g) 1 3 1 1
B 1mol H2O 3mol H2

C D
10. N2 3H2 2NH3 ΔH<0

A B C D
11. A 2B 2C 3D

A B D
C D A B C D
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12 LiFePO4

FePO4 Li+ e− LiFePO4 Li e− Li+
A
B “ ”
C Li+ e− Li D Li

13.

14 A(g) 3B(g) 2C(g)

A a p1>p2
B b
C c
D d

15 H2S CO2 H2S(g) CO2(g) COS(g) H2O(g) 610 K 0.40 mol
H2S 0.10 mol CO2 1 L 10min 0.02

A K c(COS)·c(H2O)
c(H2S)·c(CO2)

B 10min v(H2S)=0.001 mol·L−1·min−1
C 620 K 0.03 ΔH<0
D 610 K H2S α 2.5%

16 25℃ pH 2 pH 2 pH 12

A 100 pH 4
B
C V1L V2L pH 3 V1 V2 11 9
D pH 7

17 Ksp(AgCl) 1.78×10−10 Ksp (Ag2CrO4) 2.00×10−12 KCl K2CrO4

0.0010mol/L AgNO3 AgCl Ag2CrO4 CrO 24 5.000×10−3
mol/L Cl−

A 8.90×10−6 mol/L B 1.36×10−5 mol/L C 1×10−5 mol/L D 4.45×10−2 mol/L
18 25℃ Na2SO3 SO2 pH n(SO2

3 ) n(HSO3 )
n(SO2

3 ) n(HSO3 ) 91 9 1 1 9 91
pH 8.2 7.2 6.2

( )
A NaHSO3 c(H )<c(OH )
B Na2SO3 c(Na ) c(SO2

3 ) c(HSO3 ) c(OH ) c(H )
C n(SO2

3 ) n(HSO3 ) = 1 1 c(Na ) = c(SO2
3 ) c(HSO3 )

D c(Na ) c(HSO3 ) c(SO2
3 )

A Na2S
AgNO3 AgCl

Ksp(AgCl) Ksp(Ag2S)

B Na2SO3 NaOH

C NaOH

D Na
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6 58
19. 7 1
2H2O(l) 2H2(g) O2(g)
TiO2 A ___________

2 2H2(g) O2(g) 2H2O(g) ΔH1= 483.6 kJ·mol−1
H2O(g) H2O(l) ΔH2= 44 kJ·mol−1

H H O O H O
E / (kJ·mol−1) a 498 465
a=________ kJ·mol−1 ΔH=________ kJ·mol−1

3 1 g C (s, ) CO H2 10.94 kJ
_____________________________________________

20. 7 N2H4
KOH

CuCl2
1 b ___
2 d _________

3 0.15mol O2
_________g

4
OH

______ a b
5 a __________

21. 12

1 25.00 mL 1.00g·mL−1 250mL ___________( )
25.00mL

2 0.1mol/L

MnO4 H2O2 H Mn2 H2O ________
3 __________

______( A B C )
4 ____________________________
5 :

V mL
______________%
6 _____

22 10 SO2 NOx
t ℃ SO2(g) O2(g)

2SO2(g) O2(g) 2SO3(g) SO2

/L 1 1 1 2
n(SO2)/ mol 0.20 0.40 0.40 0.20
n(O2)/ mol 0.12 0.12 0.24 0.12

SO2 % 80 α1 α2 α3

/mL V1/mL V2/mL V /mL
1 25.00 1.00 19.60
2 25.00 19.60 34.20
3 25.00 0.50 14.90






